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CTET Paper 1 - 29 December (Memory Based)
CTET Paper 1: CDP

National Education Commission (1964-66) is known as
Ans: Kothari Commission

A child reads a book because he enjoys reading and have an interest in the story or subject. This
type of motivation is called
Ans: Intrinsic motivation

Which is not one of the “life stages virtues” of development according to Erick Erickson?
Ans: Honesty

As per Howard Gardner’s theory of multiple intelligence Mother Teresa, Sarvapelli Radhakrishnan,
Raja Ram Mohan Roy have which type of intelligence?
Ans: Interpersonal Intelligence

A person who is in the position of attempting to satisfy their needs at the most basic level in
operating at the level of Maslow ‘s need hierarchy called the
Ans: Physiological needs

During earliest stage of cognitive development, infants and toddlers acquire knowledge through
Ans: Sensory experiences

Which type of development come under Holistic development?
Ans: Holistic development includes all types of development i.e. physical, mental, social and
emotional

According to NEP 2020, by how much percent the Gross Enrolment ratio in higher education to be
raised?
Ans: 50%

In this stage of moral development by Kohlberg, there is an emphasis on conformity, being ‘nice’,
and consideration of how choices influence relationships.
Ans: Good boy - Good girl stage (stage 3)

It does not matter if the child lives in Kerala or Manipur, he will certainly acquire language
wherever the environment he gets. This theory emphasizes
Ans: Language Acquisition Device
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CTET Paper 1: Mathematics

The unit digit of the square of 97 is:
Ans: s9

5+3=3+5 is a property of mathematics.
Ans: Commutative property of addition

A man buys 9000 kg fish at the cost of 30 /- per kg. if 1/3 fish dried up. He sold dry fish for 120/-
per kg while unsweetened fish for 30/- per kg. find his profit?
Ans: 2,70,000/

Soni is 20% heiver than Rekha, by how much percent is rekha lighter than Soni?
Ans: 16.67%

a boy’s house is at a distance of 150 km, he goes by car. 1 liter petrol travels 15 km. Cost of 1 liter
petrol is 90 /-. If he gives 2250 /- for petrol at a petrol pump how much will he get back?
Ans: 1250

Van Hiele’s levels refers to stages in the development of :
Ans: Geometrical Thinking

Rectangle, square and Fraction related question.

CTET Paper 1: EVS

Which of the following characteristics can be found in the houses of Leh and Ladakh?
Ans: Ground floor without windows

Thick walls made up of stone, mud and lime

Wooden floors

Which Indian states touch the boundary of West Bengal?
Ans: Orrisa, Jharkhand, Bihar, Sikkim and Assam

Which of the following group of items provide Vitamin A?
Ans: Carrot, Sweet potato, Spinach

The Brahmaputra river originates from
Ans: Himalayas

Which dance form is related to the Indian State Mizoram?
Ans: Cheraw
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Q6. The currency of Abu Dhabi is
Ans: Dirham

Q7. This group of food item provides maximum amount of iron
Ans: Amla, Jaggery, Spinach

Q8. The Chipko movement was primarily a
Ans: Forest conservation movement

Q9. When does Photosynthesis occur in plants?
Ans: Only in the day

Q10. Silkworm can identify its by their smell.
Ans: Female

3 | www.teachersadda.com www.sscadda.com www.bankersadda.com www.adda247.com


http://www.teachersadda.com/
http://www.sscadda.com/
http://www.bankersadda.com/
http://www.adda247.com/

